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AEC-01 : ENVIRONMENTAL CHEMISTRY 

Time : 3 Hours 	 Maximum Marks : 100 

Note : (i) Attempt all questions. 

(ii) The marks for each question are given 

against it. 

1. (a) Complete any five of the following : 1 each 

(1) 	 is the phenomenon of successive 

increase in concentration of a 

pollutant through food web. 

An agent that causes genetic change 

in living organism is called 	 

P. T. O. 
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(iii) Conventional deionisation is not a 

suitable method if the hardness level 

is 	ppm (CaCO3). 

(iv) The number of moles of a solute 

dissolved in one kilogram of the 

solvent is known as 	 

Concentration of pollutant 	 with 

increase in wind speed. 

The density of ice at room temperature 

is   than that of water due to 

caged tetratedral structure of ice. 

(b) . 
Define any five of the following : 	1 each 

(i) Flora 

(ii) Leaching 

(iii) Symbiotic 

(iv) Auxochrome 

(v) COD 

(vi) Humidity 
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(c) 
Answer any five of the following : 2 each 

(i) Give the regions of atmosphere based 

on the physical and chemical 

properties. 

(ii) What are the types of ion exchange 

materials ? 

(iii) Write any four properties of a good 

adsorbent. 

(iv) Name any two organic pesticides 

which are persistent in environment. 

(v) What are the reasons of soil pollution ? 

(vi) Give an example each of an insecticide 

and a herbicide. 

2. Answer any four of the following : 	5 each 

(a) What is a mineral ? How will you classify 

mineral on the basis of origin ? Give two 

examples of each type. 

P. T. O. 



[ 4 ] 	 AEC-01 

(b) Name the stages of hydrological cycle. 

What are the abnormal properties of water 

that help in operation of hydrological cycle ? 

(c) How 'would ozone layer depletion lead to 

global warming ? Explain. 

(d) What are the methods used for the 

reduction of organics in paper and pulp 

industries ? Discuss any one. 

(e) What do you understand by Gravimetric 

Analysis ? What are the requirements of a 

good precipitation ? 

3. Answer any four of the following : 	5 each 

(a) List any five major indoor pollutants along 

with their sources. 

(b) How are micro-organisms carried in the 

atmosphere and how one can determine 

the number of micro-organism in a sample 

of air ? 
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(c) Give any five characteristics of an ideal 

pesticide. 

(d) What are surfactants ? Write in brief the 

distinctive features of surfactants. 

(e) Discuss the principle of flame photometric 

technique. 

4. Answer any four of the following : 	5 each 

(a) Describe the factors which affect the 

amount of dissolved oxygen in a water 

body. 

(b) How will you determine the concentration 

of an unknown sample using the 

calibration plot ? 

(c) Write the applications of conductometry. 

(d) What are the types of soil found in India 9  

Which of the two soils are highly acidic 

(e) What are the reasons of occurr ce of 

chloride and sulphate ions in wat r ? 

P. T. O. 
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5. Answer any four of the following : 	5 each 

(a) Identify the chromophore and type of 

transitions present in the following 

molecules : 

(i) CH3NO2 

CH8COCH3 , 

Arrange the following transitions in the 

increasing order : 

n -> 	it re -4 n*, a -+ a*, n -> * 

(b) What is liming ? Give its importance. 

(c) Discuss the role of climatic factors and 

weathering reactions in changing the 

composition of water. 

(d) Write five precautions which should be 

kept in mind while collecting the samples 

for chemical analysis. 

(e) Write a short note on Acid:Rain. 
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